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i) T ¥ T @Y @ #E AT Té &l Tl S
7 gie T ge 7 oak®E g7 H&IT [ Ty

8 00 qoTt F @ Sy BT §F & 9T FA &

There is no overall choice. However, internal
choice is given in all long answer type
questions of 5 marks each. You have to
attempt only one of the given choice in such

questions.

Tl F, Cl, O &R N &1 SRlid e & SR
IR A S B w5 § e § 7 1

(A) F>Cl>O>N
(B) F>0O>Cl>N
(€) Cl> F>O>N
(D) O>F> N> (]

Out of F, Cl, O ahd N elements, the correct

order of their chemical reactivity in terms of
oxidizing property is

(A) F>Cl>O>N
B) F>0>cIsy
(C) Cl>Fsospy
(D) O>Fs> N>y
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2. T (H,0)® &9 ¥ aifedior e ®eheor oraedn 7 © 7

(A) sp B sp”

(C) sp° (D) dsp”

E

In H,O molecule, the correct hybrid state of

Oxygen is :
A sp (B) sp”
(C) sp° (D) dsp?

ST P HEE FGID e Blar & ?

(A) 99.0°C (B) 100.0°C

- (C) 100.6°C (D) 199.6°C

Standard boiling point of water is :
(A) 99.0°C - (B) 100.0°C

(C) 100.6°C (D) 99.6°C

4. g9 % pH e & B 7
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(A) 7.4 (B) 6.8

(C) 6.4 (D) 7.8

Badlis Q.
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The pH of milk is :

(A) 7.4 B) 6.8
(C) 6.4 (D) 7.8
. CupO | X Y SRfiRr gear e & 7 1
A) -1 (B) -2
(C) +1 (B) +2

The oxidation number of Copper in CuyO is :
(A) -1 (B) -2

(C) +1 | (D) +2

A D i A e

. Hy
(A) @ (B) é
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Which of the following organic compounds is not
aromatic ?

n D
(©) O (D) []

7. FHEA el (CO,) o9 H €A A GO TR

Hj

87 1
(A) sp (B) sp”
€) sp° (D) dsp”

In CO, (Carbon Dioxide) molecule the carbon is
in which hybrid state ?

(A) sp (B) sp?
(C) sp° . (D) dsp?

8. &Y e1gell N A TR H WA e qRE TEen § 7 1
(A) Li'>Na'> K'> Rb'
(B) Li'<Na'< K'< Rb'
(C) K'>Li'>Rb'>Na'

(D) K'<Li'<Na'<Rb"

1329 P.T 0
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The hydration enthalpies of alkali metal ions

show following order :
(A) Li*>Na*> K*> Rb"
(B) Li*<Na*< K*< Rb”*
(C) K'>Li*>Rb">Na*

(D) K*'<Li*<Na"<Rb*

eEINH & Gt 1 e e Y 7 1

(A) 4 (B) 3
€ 2 D) 5

10. FOIFICEA &0 4 e a1 waifes @ w5 S 7 4
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Thermodynamically the most stable form of

Carbon is :
(A) Diamond (B) Graphite
(C) Fullerenes (D) Coal

11. X X H, W@f?ﬁﬂ@@sw@ﬁm@ﬁﬁw

&7 ol 7 ’ | 1
@A) K' (B) Na*
(C) Ca™™ (P) Ra™™"

Out of these ions which one does not perform
any biological functions in our body ?

A) KV | (B) Na®

() ca*t (D) Ra™

12. BEEISH 1 WG SAderS fawa e &I & 7 1
(A) 0.1V (B) 0.0V
(C) 1.0V (D) 0.0V

The standard clectrode potential (E°) of hydrogen

gas clectrode is :
(A) 0.1V (B) 0.0V
(C) 1.0V (D) -0.0V

1329 P.T.Q.
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13. HgEIRA (F) ] 1 P g @ Reel ¢

1

(A) 3.5 (B) . 4.5
(C) 3.0 (D) 4.0
The electronegativity of F atom is:
(A) 3.5 (B) 4.5

€) 3.0 (D) 4.0

14. He SEFES (CO,) T # Hilds a9 (To) 394 4
P & 7 1

(A) 33.98°C
(B) 30.98°C
(C) 27.98°C
(D) 37.98°C

The critical temperature (Tc) of CO, (Carbon

Dioxide) gas is :

(A) 33.98°C
(B) 30.98°C
(C) 27.98°C
(D) 37.98°C

1329
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G & T AR 5emm & oo &fm . 5
(i) COy
(i) CHgy
Calculate the molar mass of the following :
i co,

(i) CHy4

S BT 69.9% ST &R 30.1% SEaifaieH B
| | 2

Determine the empirical formula of an oxide of

| iron, which has 69.9% iron and 30.1% dioxygen

by mass.

2.0x107 106 @@ gl WY AT P AR, STERT
3R qEr-gEr $ OET S 2

Calculate the wavelength, frequency and wave-

number of a light wave whose period is

2.0x10710g.
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18. Bolo & arRifparsliciar #9 (F > ¢l > Br > 1) @

ARAT o 2
Explain the reactivity order of Halogens
(F> Cl> Br>1I).

19. 300.0 K W & A¥Brn & fu /g Reri® 10 @
AGOH M FT BT 7 (R =8.314 JK 'mol™!) 2

The equilibrium constant for a reaction is 10,
What will be the value of AG® = ?

(R =8.314 JK'mol™, T = 300.0 K)

20. Hzoz%aﬁﬁ?m%wﬁmw%?a@r
FHIfeTy| 2

- How does H,0, behave as bleaching agent ?
Explain.

m.qﬁ%ﬁnmﬁmﬁﬁ%ﬂq(mwaﬁwﬁm&ﬂa

E\Qﬁ%?W| )

Explain why is Na less reactive than K 7

22. 1 ARG o Mfesh ap ¥ 7 Fvmem 5

Is Boric acid a Protic acid ? Explain.

1329
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27.
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T SIS {9 TER @E & W9 ¥ H o whd 7 2

How can domestic waste be used as manure ?

-9 & & HXOT ;T E 7 G 2
What are the major causes of water pollution ?

Explain.

B9 (CH,) T FANE (Cly) @ Siifshar & isharfaiy
SEEIEY _ 3
Explain mechanism of reaction of Cl, (Chlorine)

with CH4 (Methane).

Sqw0dq @ @ (R @ R (gf) deed
R T Q BA-Y GHEEd H TS 9w Al ©
AR Ff ? | | 3
Draw the cis and trans structures of hex-2-ene.
Which isomer will have higher boiling point and

why ?

Y EEd & ar § oY R S & ° 3

What do you know about Steam Distillation ?
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RO HE B G A ST F S © 7 3

What do you know about Inductive Effect ?

iR 30 gY, o Al &5 ddem 7 wgeld g
SRAIRRE T BEgleld A A Blggletdie® (HI)
AT A HAEATF B | 3
Justify giving reactions that among halogens,
fluorine is the best oxidant and among
hydrohalic compounds, hydroiodic (HI) acid is

the best reductant.

M 39 W B8 TP 2.9 UM SFHE H 95°C a
0.184 UM H, & 17°C W HAGaE 99 2 N9 &
QAT ZTHE 5T IS 3

2.9 gram of a gas at 95°C occupied the same
volume as 0.184 gram of H, at 17°C at the
same pressurc. What is the molar mass of the

gas ?

-Gt &1 8 & ? =9 AR ¥ ReEw @
[SEEIE 3

What is enth_eilpy of solution ? Explain in detail.
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2ere fBTon & A # MY 1 9 & ? 5

what do you known about Cathode Rays ?
HIC[

OR
SErT-faEq Mg W) U ferga feaqot fereh

Write a detail note on Photoelectric Effect.

. ' ‘ -’/
‘A TA H IR ah] IR | FHEE 5
Explain in detail 'bond enthalpy' with example.
HIA[

'OR

fega omgel @r & ¥ 7 % @9 SO gC fer ®
TP S B |

What is dipole moment ? Explain in detail with

an advantage.
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34. pH Sal & URWG F T 5HH @R F qEAFU 5

Define pH scale and explain in detail.

HIq[

OR

Wamma%mﬁﬁaﬂmémwwé%?
IAEN 3T [N ¥ GHERU)

What do you know about Arrhenius concept of
acids and bases ? Explain in detail with

cxample.




